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Part-I 
(Questions 1-30) 

Directions (Q. 1-4) In each of these questions, choose the 
option that is nearly similar in meaning to the word given 
in capital letters. 

1. DETERMINED 

(A) purposeful (B) Deadly 

(C) Decided (D) Stubborn 

2. GEARED 

(A) Drove (B) Resulted 

(C) Achieved (D) Intended 

3. UNIVERSAL 

(A) Limited (B) Widespread 

(C) Average (D) Free 

4. CONGREGATION 

(A) Gathering (B) Separation 

(C) Division (D) Detachment 

Directions (Q. 5-8) In each of these questions, select the 
word that is most nearly opposite in meaning to the word 
given in capital letters. 

 

5. EXACERBATE 

(A) Decrease (B) Progress 

(C) Worse (D) Aggravate 

6. MYRIAD 

(A) Various (B) Inflexible 

(C) Expected (D) Few 

7. EMBARKATION 

(A) Withdrawal (B) Arrival 

(C) Migration (D) Expulsion 

8. IMPULSIVE 

(A) Abrupt (B) Passionate 

(C) Violent (D) Calm 

Directions (Q. 9-13) Fill in the blank. 

9. He was frightened……………….. 

(A) to be killed 

(B) to being killed 

(C) for being killed 

(D) of being killed 

10. The situation……………………. 

(A) continued to be paralyzing 

(B) continued to paralyzed 

(C) continued paralyzed 

(D) paralyzed and continued 

11. nobody could stop them. 
(A) So was the enthusiasm 
(B) As was the enthusiasm 
(C) Such was the enthusiasm as 
(D) Such was the enthusiasm that 

12. Every Shakespearean hero has an internal 
……………………..in his character. 
(A) defect (B) weakness 
(C) flaw (D) fault 

13. He is a careful person; he never takes sides but 
remains – 
(A) partial (B) biased 
(C) neutral (D) prejudiced 

Directions (Q. 14-15) Choose the word on phrase, which is 
incorrect in standard written English. If there is no error, 
mark your answer as (D). 

14. An Indian ship, laden/with merchandise, 
(A) (B) 

/got drowned/in the Pacific. No Error. 
(C) (D) 

15. After the humiliating exposure,/Nitin 
(A) 

hanged/his head in shame, No Error. 
(B) (C) (D) 

 

 

 

(A)                         (B)  

(C) (D)  

17.  

(A)                           (B)  

(C) (D)  

 

 
18. 

(A)                  (B)  

(C)                     (D)  

19. 

(A) (B) 

(C) (D) 

 
16. 
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20. 
 
 

21. 
 
 

22. 

 
 

(A)                 (B)  

(C)          (D) 
 

 

(A) (B) 

(C)              (D) 
 

 

(A) 

(B) 

(C)  

(D)  

 
 

28. 
 
 

29. 
 
 

30. 

 

 

(A)               (B)  

(C)               (D)  
 

 

(A)               (B)  

(C)                 (D)  
 

 

(A)                        (B)  

(C) (D) 

 
Part – II 

(Questions 31 – 150) 
 
 

 

 
 
 
 
 

24. 
 
 
 
 
 

25. 

 
 

(A) 

(B) 

(C) 

(D)  
 

 

 

(A)  

(B)  

(C)  

(D)  
 

  

(A)  

(B)  

(C)  

(D)  

31. Which of the following countries did not qualify for 
Olympics 2016 in Hockey? 
(A) Pakistan (B) Belguim 
(C) Canada (D) Brazil 

32. Which city will lost the BRICS summit in 2016? 
(A) New Delhi (B) Shanghai 
(C) Moscow (D) None of these 

33. Which education institution was not part of the 
University Grants Commission’s (UGC’s) Heritage 
College Scheme in 2015? 
(A) St. Bede’s College, Shimla 
(B) Old Agra College, Agra 
(C) Christ Church College, Kanpur 
(D) St. Stephen’s College, Delhi 

34. India is currently at…        position in terms of power 
generation from nuclear source in the world as per 
data provided by Press Information Bureau, 
Government of India. 
(A) 5th (B) 12th 
(C) 15th (D) 16th 

35. ………….Lok Sabha elections were conducted during 
the year 2014. 
(A) 13th (B) 14th 

26. (A) (B)  

(C) (D)  

27. (A) (B) 

(C) (D) 

(C) 15th (D) 16th 
36. Who is currently the Secretary-General of South 

Asian Association for Regional Co-operation 
(SAARC)? 
(A) Ahmed Saleem 
(B) Arjun Bahadur Thapa 
(C) Sheel Sharma 
(D) Q. A. Rahim 

23. 
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37. Satya Nadella, is CEO of which of the following 
companies? 
(A) Google (B) Microsoft 
(C) IBM (D) Apple 

38. Which of the following airlines has signed a deal 
with Airbus Company to buy 250 aircrafts? 
(A) Vistara Airlines (B) Indian Airlines 
(C) SpiceJet Airways (D) Indigo Airlines 

39. Buddy mobile wallet app is launched by- 
(A) State Bank of India 
(B) ICICI Bank 
(C) HDFC Bank 
(D) Syndicate Bank 

40. Under the Smart Cities Mission of Government of 
India, the selected city would get a Central 
assistance of ` ........... crore per year for five years. 
(A) 50 (B) 100 
(C) 200 (D) 500 

41. Which Government of India scheme has been 
acknowledged by the Guinness Book of World 
Records for being the largest cash transfer program 
for households? 
(A) UIDAI (B) Jan Dhan Yojana 
(C) PAHAL (D) None of these 

42. Indian Government   has   set   target   of   installing 
60,000 MW of wind power by……………… 
(A) 2019 (B) 2021 
(C) 2023 (D) None 

43. How many World Heritage Sites in India are 
currently recohnized by the United Nations 

47. Which e-commerce company acquired 25% stake in 
mobile commerce firm Paytm? 
(A) Alibaba (B) Snapdeal 
(C) Flipkart (D) Amazon 

48. Which among the following is a Public Sector Bank? 
(A) HDFC Bank (B) ICICI Bank 
(C) IDBI Bank (D) Federal Bank 

49. How many Indian origin MP’s were elected to UK 
Parliament during the British electrons of 2015? 
(A) 2 (B) 6 
(C) 8 (D) 10 

50. Carolina Marin Martin of……………..has won the 
prestigious Woman’s Singles Title in the All England 
Open Badminton Championship 2015. 
(A) Denmark (B) Spain 
(C) Malaysia (D) England 

51. Which one of the following awards was conferred on 
Bill Gates and his wife Melinda Gates in January 
2015? 
(A) Padma Shri (B) Padma Vibhushan 
(C) Padma Bhushan (D) None of these 

52. Which one of the following comes under Navratna 
Central Public Sector Enterprises (CPSEs)? 
(A) Container Corporation of India Limited 

(CONCOR) 
(B) Bharat Heavy Electricals Limited 
(C) NTPC Limited 
(D) Cochin Shipyard Limited 

53. Mount Kilimanjaro, the highest mountain in Africa is 
in which country? 

 

Educational, Scientific and Cultural Organization (A) Kenya (B) Namibia 
(UNESCO)?     (C) Tanzania (D) Nigeria 

(A) 30 (B) 32 
(C) 34 (D) 36 

44. The Prime Minister Narendra Modi started 
addressing the nation through the radio programme 
‘Mann ki Batt’ on All India Ratio from…………………. 
(A) October 2, 2014 
(B) October 3, 2014 
(C) October 4, 2014 
(D) October 5, 2014 

45. Mark Zuckerberg is associated with – 
(A) Walmart (B) Microsoft 
(C) Facebook (D) None of these 

46. Sportsperson Magnus Carlsen is associated with 
which sport? 
(A) Tennis (B) Chess 
(C) Badminton (D) Football 

54. Diptosh Majumdar who recently passed away, was a 
– 
(A) Poet (B) Journalist 
(C) Singer (D) Actor 

55. Indian Government has declared which of the 
following as sick PSU unit(s) in 2015? 
(A) BSNL (B) MTNL 
(C) Air India (D) Both (B) and (C) 

56. Name the nurse of KEM hospital, Mumbai whose 
story became a cornerstone for euthanasia debate 
in India. She died on May 18, 2015 after being in 
vegetative state for 42 years. 
(A) P. Rathinam (B) Pinki Virani 
(C) Gian Kaur (D) Aruna Shanbaug 

57. Who among the following is the US Ambassador in 
India? 
(A) Alex Salmond 
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(B) Tulsi Gabbard 
(C) Richard Rahul Verma 
(D) None of these 

58. Telangana is the… ........... state of India. 
(A) 26th (B) 27th 
(C) 28th (D) 29th 

59. A Snickometer is associated with which of the 
following sports? 
(A) Tennis (B) Cricket 
(C) Hockey (D) Football 

60. Who amongst the following is not a Bharat Ratna 
awardee? 
(A) Lata Mangeshkar 
(B) Pandit Bhimsen Joshi 
(C) Ratan Tata 
(D) A.P.J. Abdul Kalam 

61. Which country has been ranked first in the 2015 
Energy Productivity and Economic Prosperity Index 
2015? 
(A) Singapore (B) UK 
(C) Norway (D) None of these 

62. Which is the only central university in India to have 
current Prime Minister of India as its chancellor? 
(A) Visva Bharati University 
(B) Banaras Hindu University 
(C) Indira Gandhi National Open University 
(D) Rajiv Gandhi University 

63. The Delhi-Mumbai Industrial Corridor (DMIC) project 
covers how many states? 
(A) Four (B) Six 
(C) Five (D) Seven 

64. Who won 2015 French Open Men’s single title of 
Tennis? 
(A) Stanislas Wawrinka 
(B) Novak Djokovic 
(C) Andy Murray 
(D) None of these 

65. Which space body has won the 2015 space pioneer 
award for science and engineering? 
(A) NASA (B) ISRO 
(C) ESA (D) RSA 

66. The mobile application ‘Sakaar’ has been launched 
in 2015 to highlight the achievement of which 
department of the Indian Government? 
(A) Dept. of Economic Affairs 
(B) Dept. of Medicine 
(C) Dept. to Space 
(D) None of these 

67. India’s first exclusive hospital for elephant will come 
up in – 
(A) Tamil Nadu (B) Karnataka 
(C) Kerala (D) Andhra Pradesh 

68. Who development World’s first water-based 
computer in 2015? 
(A) Hari Mehrohtra (B) Manu Prakash 
(C) John Hopkins (D) Vishakha 

69. Who won the Canadian Grand Prix 2015? 
(A) Nico Rosberg (B) Vettel 
(C) Valtteri Bottas (D) Lewis Hamilton 

70. Which team has won the 2015 UEFA Champion 
League title? 
(A) FC Barcelona (B) Real Madrid 
(C) Liverpool (D) Juventus 

71. In a certain code THRIVES is written as SIUHRDU. 
How is SOULFUL written in that code? 
(A) VPTKKTE (B) VPTKETK 
(C) TPVKKTE (D) TNRKMVG 

72. Mohan walked 30 metres towards South, took a left 
turn and walked 15 metres. He then took a right 
turn and walked 20 metres. He again took a right 
turn and walked 15 metres. How far is he from the 
starting point? 
(A) 95 metres (B) 50 metres 
(C) 70 metres (D) None of these 

73. What should come next in the following letter 
series? 
P Q R S T A B C D E P Q R S A B C D E P Q R S A B C D P 
Q 
(A) R (B) T 
(C) A (D) B 

74. In a certain code language, ‘how can you go’ is 
written as ‘ja da ka pa’. ‘can you come here’ is 
written as ‘na ka sa ja’ and ‘come and go’ is written 
as ‘ra pa sa’. How is ‘here’ written in that code 
language? 
(A) ja (B) na 
(C) pa (D) None of these 

75. In a row of forty children, R is eleventh from the 
right end and there are fifteen children between R 
and M. What is M’s position from the left end of the 
row? 
(A) Fourteenth (B) Fifteenth 
(C) Thirteenth (D) None of these 

76. Among P, Q, R, S and T, each one is having a 
different height Q is shorter than only T and S is 
shorter than P and Q. Who among them is the 
shortest? 
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(A) R (B) S 
(C) P (D) Data inadequate 

77. In a certain code CONQUER is written as MNBRQDT. 
How is STEAMER written in that code? 
(A) DRSBQDL (B) DSRBLDQ 
(C) DSRZQDL (D) DSRBQDL 

78. If ‘÷’ means ‘+’, ‘-‘ means ‘×’; ‘+’ means ‘-‘ and ‘×’ 
means ‘÷’, the14  4  7  12  8  ? 

(A) 20 (B) 12 
(C) 8 (D) None of these 

 
Directions (Q. 79-83) Study the following arrangement 
carefully to answer these questions. 
S M P 6 3 * $ A 4 L N @ Z 5 # V U 7 E 8 B % T Y X G 2 I & 9 
W 

79. Which of the following is the third to the left of the 
fifteenth from the left end? 
(A) @ (B) 5 
(C) 7 (D) U 

80. How many such consonants are there in the above 
arrangement each of which is immediately followed 
by an even number and preceded by a symbol? 
(A) None (B) One 
(C) Two (D) Three 

81. What should come in place of the question mark ‘?’ 
in the following-series based on the above 
arrangement? 
PM3 A$L Z@# ‘?’ 
(A) U V E (B) V # E 
(C) 7 U 8 (D) V 7 # 

82. Four of the following five are alike in a certain way 
based on their position in the above arrangement 
and hence, form a group. Which is the one that does 
not belong to that group? 
(A) A 4 * (B) T B Y 
(C) 9 I W (D) V 5 U 

83. How many such numbers are there in the above 
arrangement each of which is immediately followed 
by a vowel and immediately preceded by a 
consonant? 
(A) None (B) One 
(C) Two (D) Three 

 
Directions (Q. 84-87) Study the following information to 
answer these questions – 

A blacksmith has five iron articles A, B, C, D and E, each 
having a different weight. 

I. A weighs twice as much as B. 
II. B weighs four and a half times as much as C. 
III. C weighs half as much as D. 
IV. D weighs half as much as E. 
V. E weighs less than A, but more than C. 

84. Which of the following is the lightest in weight? 
(A) A (B) B 
(C) C (D) D 

85. E is heavier than which of the following two articles? 
(A) D, B (B) D, C 
(C) A, C (D) A, B 

86. Which of the following articles is the heaviest in 
weight? 
(A) A (B) B 
(C) C (D) D 

87. Which of the following represents the descending 
order of weights of the articles? 
(A) A, B, E, D, C (B) B, D, E, A, C 
(C) E, C, D, A, B (D) C, A, D, B, E 

88. Robin says, “If Jai gives me ` 40, he will have half as 
much as Atul, but if Atul gives me ` 40, then the 
three of us will have the same amount.” What is the 
total amount of money that Robin, Jai and Atal have 
between them? 
(A) ` 240 (B) ` 320 
(C) ` 360 (D) ` 420 

89. In an examination, a student scores 4 marks for 
every correct answer and loses 1 mark for every 
wrong answer. If he attempts all 75 questions and 
secures 125 marks, the number of questions he 
attempts correctly, is – 
(A) 35 (B) 40 
(C) 42 (D) 46 

 

Directions (Q. 90-92) Study the following information to 
answer these questions. 

Six books are kept one on top of the other. The History 
book is just above Accounting. The maths book is between 
Punjabi and Urdu. English is between History and Punjabi. 
90. Which book is between the Maths and English 

books? 
(A) Urdu (B) Accounting 
(C) History (D) None of these 

91. Which book is at the bottom? 
(A) Urdu 
(B) Accounting 
(C) Punjabi 
(D) Cannot be determind 
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92. Which book is at the top? 
(A) Accounting 
(B) Punjabi 
(C) Urdu 
(D) Cannot be determind 

93. Ashish leaves his house at 20 minutes to seven in 
the morning, reaches Kunal’s house in 25 minutes, 
they finish their breakfast in another 15 minutes and 
leaves for their office which takes another 35 
minutes. At what time do they leave Kunal’s house 
to reach their office? 
(A) 7:40 a.m.        (B) 7:20 a.m. 
(C) 7:45 a.m.        (D) 8:15 a.m. 

94. In a queue of children, Kashish if fifth from the left 
and Mona is sixth from the right. When they 
interchange their places among themselves, Kashish 
becomes thirteenth from the left. Then what will be 
Mona’s position from the right? 
(A) 4th (B) 8th 
(C) 14th (D) 15th 

95. A family consists of grandmother, father, mother, 
four sons and their wives and one son and two 
daughters to each of the sons. How many females 
are there in all? 
(A) 14 (B) 16 
(C) 18 (D) 24 

96. Daya has a brother, Anil, Daya is the son of Chandra. 
Bimal is Chandra’s father. In terms of relationship, 
what is Anil of Bimal? 
(A) Son (B) Grandson 
(C) Brother (D) Grandfather 

Directions (Q. 97-99) Complete the series by replacing the 
‘?’ 

97. Q1F, S2E, U6D, W21C, ? 
(A) Y66B (B) Y44B 
(C) Y88B (D) Z88D 

98. (2, 3), (3, 5), (5, 7), (7, 11), (11, 13), ? 
(A) (13, 15) (B) (15, 16) 
(C) (13, 17) (D) (13, 19) 

99. CAT, FDW, IGZ, ? 
(A) KJA (B) KTC 
(C) LHD (D) LJC 

Directions (Q. 100-102) Read the following information to 
answer these questions – 

Four friends, A, B, C and D are studying together in class 
10+2, A and B are good in Hindi, but poor in English. A and 

C are good in Sanskrit, but poor in Maths. C and D are 
good in English, but poor in Geography. D and B are good 
in Maths as well as Sanskrit. 

100. Who amongst the following friends is not good in 
Maths but good in Hindi? 
(A) D (B) C 
(C) A (D) B 

101. Which of the following pairs of friends is good both 
in English and Sanskrit? 
(A) C and D (B) A and D 
(C) A and C (D) D and B 

102. Which one of the following statements is definitely 
true? 
(A) A is good in Geography, Hindi, and Sanskrit 
(B) All the four friends are good in Sanskrit 
(C) C and D are good in English as well as in Hindi 
(D) C is good in Maths, Hindi and Geography 

 
Directions (Q. 103-105) In each of these questions, two 
statements A and B are given followed by two conclusions 
I and II. Consider both the statements to be true even if 
they seem to be at variance from commonly known facts. 
Decide which of the given conclusions is/are definitely 
drawn from the given statements, Mark answer as - 

(A) if neither I nor II follows 
(B) if only II follows 
(C) if only I follows 
(D) if both I and II follows 

103. Statements : 
(A) If there is shortage in the production of onions, 

the price of onions will go up. 
(B) Price of onion has gone up. 
Conclusions : 
I. There is shortage in the production of onion. 
II. Onion was exported. 

104. Statements : 
(A) If all players play of their full potential, we will 

win the match. 
(B) We have won the match. 
Conclusions : 
I. All players played to their full potential. 
II. Some players did not play to their full potential 

105. Statements : 
(A) Some businessmen are rich. 
(B) Soman is rich. 
Conclusions : 
I. Soma is a businessman. 
II. Soman has a big farm. 
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106. Introducing Rajesh, Neha said, his borther’s father is 
the only son of my grandfather. How is Neha related 
to Rajesh? 
(A) Mother (B) Daughter 
(C) Sister (D) Niece 

107. Ram’s age was square of a number last year and it 
will be cube of a number next year. How long must 

115. 
 
 
 
 
 

116. 

A teacher should be respected in the society when 
he – 
(A) leads an ideal life 
(B) performs his duties sincerely 
(C) is capable of teaching effectively 
(D) All these 
During educational tours, what should NOT be your 

be wait before his age is again the cube of a 
number? 
(A) 38 years (B) 10 years 
(C) 39 years (D) 64 years 

expectations from children? 
(A) Children should enjoy the tour 
(B) Children should observe and ask questions 
(C) Children should not ask any question 

108. After a get-together, every person present shakes 
the hand of every other person. If there were 105 
hand shakes in all, how many persons were present 

 
 

117. 

(D) Children should observe and note questions in 
their diaries 

What do you think is the best tool to motivate 
in the party? 
(A) 15 (B) 14 
(C) 13 (D) 16 

109. In a queue, I am the last person, while my friend is 
seventh from the front. If the person exactly 
between me and my friend is on the 23rd position 

 
 
 
 
 

118. 

students? 
(A) Use audio-visual aids 
(B) Make lessons most interesting 
(C) Seek cooperation of students 
(D) Meet parents regularly 
Which of the following is not a characteristic of a 

from the front, what is my position in the queue? 
(A) 38 (B) 37 
(C) 36 (D) 39 

110. A cube is to be coloured in such a way as to avoid 

 
 
 

119. 

good achievement test? 
(A) Validity (B) Reliability 
(C) Ambiguity (D) Objectivity 
Primary function of the school as an agent of society 

the same colour on adjacent surfaces. What is the 
minimum number of colours you will require? 
(A) Six (B) Four 
(C) Three (D) Nine 

111. Generally speaking, teaching aptitude implies – 
(A) keen desire to teach 
(B) dedication towards teaching 
(C) possessing an ability to teach 

 
 
 
 
 
 
 

120. 

is to - 
(A) maintain social stability 
(B) develop an adequate level of vocational 

competence in children 
(C) prepare the child for life 
(D) provide children with an understanding of their 

environment 
Which of the following qualities is considered most 

(D) All these 
112. Which of the following is not considered a project 

aid? 
(A) Slide Projector 
(B) Black Board 
(C) Overhead Projector 

 
 
 
 
 

121. 

essential for a teacher? 
(A) Should be an expert of the subject 
(B) Should be a learned person 
(C) Must be a well-dressed person 
(D) Should have lots of patience 
Which of the following will you consider the most 

(D) Epidiascope 
113. Which of the following methods should be used for 

true evaluation of students? 
(A) Formative evaluation 
(B) Continuous evaluation 
(C) Evaluation at the end of course 

 
 
 
 
 

122. 

adequate definition of learning? 
(A) Solving problems 
(B) Development of specific skills 
(C) Modification of behavioural pattern 
(D) Noen of these 
Main aim of education is to develop individual’s – 

(D) Evaluation after every six months 
114. Who is the first teacher of child? 

(A) Environment (B) Teacher 

 
 

123. 

(A) knowledge (B) body 
(C) personality (D) intelligence 
How can one learn a skill in a effective way? 

(C) Parents (D) None of these  (A) By observing (B) By listening 
(C) By reading (D) By doing 
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124. ICTs in the developing world have the potential to  (D) helps students become health conscious 

enhance the education experience for children who 132. Dynamic approach to teaching means – 
(A) live in rural and remote locations  (A) learning through activities 
(B) have special learning needs  (B) forceful and effective teaching 
(C) have physical disabilities  (C) teacher must be energetic and dynamic 
(D) All these  (D) topics should be dynamic and not static 

125. Which  among the following  is/are the initiative(s) 133. Which of the following is the most important factor 
taken by the Government of India to create quality  on which effectiveness of teaching depends? 
digital content for different levels of education in  (A) school infrastructure 
India?  (B) subject understanding of the teacher 
(A) Sakshat Portal of the Government of India  (C) qualifications of the teacher 
(B) National Program   of   Technology   Enhanced  (D) handwriting of the teacher 

Learning 134. What should be the main objective of teaching? 
(C) Multimedia Educational Resource for Learning &  (A) Prepare students to pass the examination 

Online Teaching  (B) To dictate good notes 
(D) All these  (C) Provide required information related to the 

126. Information   and   Communication   Technology   in  subject 
schools provide   an   opportunity   to   teachers   to  (D) To develop thinking power of students 

transform their practices by providing them – 135. Teacher use teaching-aids for – 
(A) improved educational content  (A) impressing the students 
(B) more effective teaching and learning methods  (B) making teaching interesting 
(C) more interactive educational materials  (C) making students attentive 
(D) All these  (D) making teaching within understanding level of 

127. The ICT in Schools Scheme of Government of India  students 
was launched in the year……………. for students to 136. What should a teacher do to develop spirit of labour 
learn through computer aided learning process.  in students? 
(A) 2001 (B) 2003  (A) Give example of people who put in labour 
(C) 2004 (D) 2006  (B) Teacher should indulge in labour 

128. Sarva Shiksha Abhiyan making free and compulsory  (C) Give detailed lectures on importance of labour 
education to children of 6-14 years age group a  (D) Give opportunities to students to do labour 
Fundamental Right was launched by Government of  often 
India in the year- 137. While on a trip to a hill-station, one of your students 
(A) 1996 (B) 1998  misbehaves with an old lady, you would – 
(C) 2001 (D) 2003  (A) not accept his fault as you all are from a very 

129. Curriculum Framework for Quality Teacher 
Education was brought out by National Council for 
Teacher Education in the year- 
(A) 1990 (B) 1992 
(C) 1996 (D) 1998 

130. The Government of India enacted the Right of 
Children to Free and Compulsory Education Act in 
the year – 
(A) 2006 (B) 2007 
(C) 2008 (D) 2009 

131. A teacher is considered successful, if he/she – 
(A) imparts subject knowledge to students 
(B) presents the subject matter in a well organized 

manner 
(C) prepare students to pass the examinations 

reputed school 
(B) argue with lady and ask her to call the police 
(C) make your student apologise and say sorry to 

the old lady 
(D) take all the students away from the scene 

immediately 
138. If when called, some parents/guardians of the 

students to not come to see the teacher, the teacher 
should – 
(A) write to the parents/guardians 
(B) go and meet them 
(C) punish the student 
(D) start ignoring the student 

139. Group and participatory learning practices should be 
(A) discouraged (B) ignored 
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(C) encouraged (D) None of these 
140. Today, both teachers and students – 

(A) need not operate computers 
(B) should be computer savvy 
(C) may be computer literate 
(D) should not know anything about computers 

141. Studying a material at a stretch is known as – 
(A) distributed learning 
(B) massed learning 
(C) spaced learning 
(D) None of these 

142. Job of curriculum construction is considered as – 
(A) a routine work 
(B) not a special job 
(C) a highly specialized job 
(D) not a significant work 

143. Students should be praised in – 
(A) private (B) separately 
(C) public (D) individually 

144. While dealing with group dynamics of students, 
which of the following is true about students? 
(A) Students are immature 
(B) Student are unable to discriminate between 

good or bad 
(C) Students are impatient and sensitive 
(D) All these 

145. Which of the following indicates the slots or ranges 
within which the proficiency level of an individual is 
judged for some ability or quality? 
(A) Grades 
(B) Marks 

(C) Both (A) and (B) 
(D) None of these 

146. The school library is an educational apparatus of- 
(A) little value 
(B) some significance 
(C) not much value 
(D) considerable value 

147. Research states   that………….of   our   learning   is 
absorbed through the visual and auditory organs. 
(A) 60% (B) 85% 
(C) 50% (D) 95% 

148. Research suggests that…………….is a strong variable 
in the learning process, perhaps an even more 
important variable than ability. 
(A) neglect (B) ignorance 
(C) motivation (D) discouragement 

149. Assertive discipline……………….the teacher’s right to 
establish and enforce a positive learning climate in a 
classroom environment. 
(A) does not promote 
(B) promotes 
(C) has nothing to do with 
(D) is not needed for 

150. When a teacher is dominated by authorities or 
forced to do other tasks, his/her efficiency is – 
(A) increased manifold 
(B) reduced 
(C) marginally increased 
(D) unaffected 

 
 

*** 
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